

$$g = x + y - 1 = 0 \quad \text{--- (0)}$$

$$f = x^{\frac{1}{2}} y^{\frac{1}{2}}$$

$$(x, y > 0)$$

$$g_x = g_y = 1$$

$$f_x = \frac{1}{2} x^{-\frac{1}{2}} y^{\frac{1}{2}}, \quad f_y = \frac{1}{2} x^{\frac{1}{2}} y^{-\frac{1}{2}}$$

2° 求 3.

$$\begin{cases} \frac{1}{2} \left(\frac{y}{x} \right)^{\frac{1}{2}} = \lambda & \text{--- (1)} \end{cases}$$

$$\begin{cases} \frac{1}{2} \left(\frac{x}{y} \right)^{\frac{1}{2}} = \lambda & \text{--- (2)} \end{cases}$$

$$\frac{y}{x} = \frac{x}{y} = 4\lambda^2 \quad \text{所以 } x = y \text{ 代入 3.}$$

$$\textcircled{0} \text{ 代入 } \lambda = \frac{1}{2} \quad x = y = \frac{1}{2} \text{ 代入 3.} \quad \textcircled{1} \text{ 代入 } \lambda = \frac{1}{2}$$

$$\lambda = \frac{1}{2}$$

代入 3.

$$(x, y) = \left(\frac{1}{2}, \frac{1}{2} \right)$$

3° 构造 Lagrange 函数 L.

$$L = f - \lambda g$$

求 L

$$\begin{aligned} L_{xx} &= f_{xx} - \frac{1}{2} g_{xx} \\ &= -\frac{1}{4} x^{-\frac{3}{2}} y^{\frac{1}{2}} = -\frac{1}{4} x^{-1} \left(\frac{y}{x} \right)^{\frac{1}{2}} \end{aligned}$$

$$L_{xy} = +\frac{1}{4} x^{-\frac{1}{2}} y^{-\frac{1}{2}}$$

$$L_{yy} = -\frac{1}{4} x^{\frac{1}{2}} y^{-\frac{3}{2}} = -\frac{1}{4} y^{-1} \left(\frac{x}{y} \right)^{\frac{1}{2}}$$

$$\left(\frac{1}{2}, \frac{1}{2} \right) \text{ 代入 2}$$

$$L_{xx} = -\frac{1}{4} \cdot 2 = -\frac{1}{2}$$

$$L_{yy} = -\frac{1}{4} \cdot 2 = -\frac{1}{2}$$

$$L_{xy} = L_{yx} = -\frac{1}{4} \cdot 2 = -\frac{1}{2}$$

$$B = \begin{vmatrix} 0 & 1 & 1 \\ 1 & -\frac{1}{2} & +\frac{1}{2} \\ 1 & +\frac{1}{2} & -\frac{1}{2} \end{vmatrix}$$

$$= \begin{vmatrix} 0 & 1 & 1 \\ 1 & -\frac{1}{2} & \frac{1}{2} \\ 2 & 0 & 0 \end{vmatrix} = 2 \begin{vmatrix} 1 & 1 \\ -\frac{1}{2} & \frac{1}{2} \end{vmatrix} = 2 > 0$$

フリ フル R

↓ 33412 山 2 西尾 (南)